
PHYS 121 Tutorial #9 – group problem solving

1. The value of the integral
∮
B⃗ · dℓ⃗ = µ0Iencl around the closed path in the figure below is

3.77× 10−6 Tm. What is the value of I3?

2. A toroid consists of a coil of N turns wrapped around a doughnut-shaped former. Use Ampère’s

law
∮
B⃗ · dℓ⃗ = µ0Iencl to find the strength of the magnetic field B a distance r away from from the

centre of the toroid (see the figure below). Your answer should be expressed in terms of N , r, and

the current I passing through the coil of wire.
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